Name:

' 2x+3y=-3 .
13. Solve the system by graphing.
—-x+3y=-9
y
6 e
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o B b 2 A2 448 b x
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a. (-6, —5) c. (6, —5)
b. (-6, 5) d. (6,5)
x+y=2
14. Solve the system { 7 by graphing.
3x+3y=0
y
-0 8 6 4 97 g 10 x
a. (=1, =1) c. (LD
b. (-1, 1) d (1, =1
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15. Solve the system {

3x+3y =

by graphing.
3x+3y =15

y

%

a. (-3, -2) c. (3, -2
b. (3,2) d. (-3,2)
3x+3y =21 .
16. Solve the system by graphing.
: —x+2y =12
y .
—%-
-10 0 b 10 x
L2t
}
a. (-2,95) c. (2,9
b. (-2, -95) d. (2, -9)
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Name:

- -3x+4y =-4 :
17. Solve the system by graphing.
-3x+3y=-6
y
L
EEREEY ) 1 x
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a. (-4, -2 c.
b. 4,2 d.
-3x+2y=-10 _
18. Solve the system by graphing.
-2x+2y=-4
y
g 7
EEEEEY 4 b
/]
a. (6, -4) C.
b. (-6,4) d.

4, -2
("43 2)

(6,4)

(-6, =4
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2x+4y =20 ,
19. Solve the system by graphing.
x+y=6
y
Tk bbb ; 1D x
a. (-2, -4 c. (2,4
b. (2, -4) d (2,4
-3x+y=24
20. Solve the system rry by graphing.
—2x +4y =36
/ ¥
o /8 5 4 2 4 p o«
a. (-6, —6) c. (6,6)
b. (6, —6) d. (-6, 6)
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21,

22.

—x+y=-9
Solve the system Yy by graphing,
-x+3y=-15
y
-0 8 65 4 D 4 A 0-x
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a. (-6,3) c.
b. (6, -3) d.
—3x +3y =27
Solve the system rry by graphing.
3x+2y=-12
Iy
pd
v
A5 NP | 7 P x
a. (6,3) c.
b. (6, =3) d.
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(6, 3)
(-6, -3)

(_69 3)

(._69 - 3)
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23,

24,

X+2y=2 )
Solve the system by graphing.
x+3y=0
'y
~ )
N M~
OB 5 4 b o x
, AN
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a. (6, -2)
b. (-6, -2)
=3x+y=-I15
Solve the system v by graphing.
22x+y=15
y
\\ /
B 5 4 2 A 1 x
l/

b.

(-6, =3)
(6, 3)

c. (6,2)

d. (6,2

c. (6, -3)
d. (-6,3)
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